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Note: Attempt all questlons of Section-A by fllhng the correspondmg bubble on the McQ
ANSWER SHEET and return it to the Superintendent within given time, even if you have
not attempted any questlon

Time: 20 minutes | Section A
Marks: 12 S
1. Which preﬁx represents the Iargest value. A) mega B) gigaC) peta D) -
- 2, The average speed of bus is 20m/s How far can it travel in 10 seconds?

"200m ) © 250m

A) 100m b)  150m ()
3. The formula. to calculate the moment of force is ]
A) Force /Area  b) -Force x Velocity () Forf;e X Area Dmgne of these
4, The Si unit of inertials ___ A) Newton B) meter per second C) metre D)\ﬁi:gram
5, The Sl unit of linear momentum issimply ___ A)Nm B)\ﬁ’s’l ¢) N kg D) None of these
6. The shortest distance between two couple forces is _
A) momentum B)\f:‘;:lpie arm C) radius D) dlameter
7. .Conventlonally anti cIockwnse torque is taken as
| A) negatlve B) positive C) parallel D) Zero , ,
8. kWhis unitfor ___A) energy B) \/power C)  force D) Nohe of these
9. - Young's Modql-us for iron ,’S - o 4 o
A) 11x10"pa B) 1.6x10"pa C)- 21x10*pa D) 20x 10"°pa.
10.  Barometer is‘used tomeasure _ _ | |
| A) density B) \)apour pressure c) kg x 1 meter D) Nohe of these
11. One joule isequal to ___ | -
A) 1meter X 1 sec Bi\{ﬂ wtonx 1 meter C) 1kgx ilmeter‘- D) None ?
‘12, Which of the followmg is the best heat conductor?

A |
‘ A) Alummtum B) tin C) iron D) Copper



. Time: 2 Hours 40 Mtnutes-_ |
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1, Atterpt any eight of the folowing. Al carry equel marks,

i
,

i

viil,

.

‘Name any four derived units and write them as thelr base units.

thferenﬂate between everage and Instantaneous velodities e
Is.it possrbte that dtsptacement wil be equat fo dtetance? '
How can we fesl tnertra? Explain with an exampte :

What will be the etfect if torce is apphed parallel to the axis of rotatton?

‘Moon s aftracted by the earth, why it does not fall on eart_h?

. - Can a ceniripetal force ever do work dn an object? EXpIetn. :

Ditferentlate between stress and stratn

Why are water tanks constructed attha highest level in our- houses‘?

- The temperature of a normal human boy is 37°C Fmd thts temperature on-

the Fahrenhelt and Kelvrn ecates.

Why weartng whtte Is clothes preferred in sumnter?

"v : T Marke 21;

NOTE Attempt any three of the foItowtng qt.resttons Al questtons carry equat merks o

v

1.. - Define scalar and vector quantlttes Explatn with examptes the graphlcat
B ,representatlen of Vecter quantrttes

With what speed must a batl be thrown verttcalty from ground tevel fo.rise to a ‘

_ maxtmum height of 40m?.

'thterentlate between centnpetat torce and centnfugat force

A ball of weight 100N is moving on a frictionless- surface w1th a vetoctty of

,10ms ! compute i) ktnettc energy. . -

‘State Pascal s principle and explain with examples .

“The deepest point in the ccean is 11km below sea tevel deeper than Mount
7 Everest Is tall, What ts the pressure in atmosphere at this depth?

i.  Whatdo you mean by thermal expanelon? Prove that the coefﬁctent of votume |

thermal expanston of solids'y" s about three ttmes of the coefﬁctent of tinear '
thermal expansion ‘c." of solids., - ' .

Consider @ meter-stick composed of platinium for Whtch o= 8810 By .

“what amount does the length of thig meter-sttck change if the temperature s
‘Increased by 1k?



